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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. State and prove Thevenin‟s theorem. 

Fksfofuu izes; dk izdFku nsdj bls fl) dhft,A 

2. Determine Y-parameters from given four terminal 

network circuit. 

fn;s x;s prqVZfeZuy ifjiFk ls Y-izkpy Kkr dhft,A 

 

 

 

 

 

3. Explain the frequency response of transistor amplifier. 

Draw a diagram for frequency response of a transistor 

amplifier. 

Vªk¡ftLVj izo/kZu dh vkòfŸk vuqfØ;k le>kb,A Vªk¡ftLVj 

izo/kZu dh vkòfŸk vuqfØ;k dk ,d fp= Hkh cukb,A 

4. Discuss the functioning of Zener Diode as a Voltage 

Regulator. Differentiate between Zener breakdown and 

avalanche breakdown. 

tsusj Mk;ksM }kjk oksYVrk fu;eu dh izfØ;k le>kb,A 

tsuj Hkatu ,oa ,osyka’kh Hkatu esa foHksn dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. State Kirchhoff‟s laws for an electrical network. 

,d oS|qr usVodZ ds fy, fdjpkWQ ds fu;e fyf[k,A 

2. Explain P-type semiconductor. 

P-v/kZpkyd dks le>kb,A 

3. Explain Capacitance effects. 

/kkfjrk izHkko le>kb,A 

4. What do you understand by Ripple factor (r) and 

Efficiency ( )  ? Explain. 

mfeZdk xq.kkad ,oa n{krk ls vkidk D;k rkRi;Z gS \ 

le>kb,A 

5. What is load line ? Explain importance of it. 

yksM js[kk D;k gS \ blds egRo dks le>kb,A 

6. Differentiate between active and passive circuits giving 

two examples of each. 

nks mnkgj.k nsrs gq;s fØ;k’khy ,oa vfØ;k’khy ifjiFk esa 

foHksn dhft,A 
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7. Prove that Boolean formula : 

(i) AB + A B  = A 

(ii)    A .A B B. A B A B   

cwfy;u O;atdksa dks fl) dhft, % 

(i) AB + A B  = A 

(ii)    A .A B B. A B A B   

8. Draw the circuit diagram of single stage RC coupled 

amplifier. Explain its advantages. 

,d RC ;qfXer izo/kZd dk ifjiFk cukb;s ,oa bldh eq[; 

fo’ks”krk,¡ le>kb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Dual of Thevenin‟s theorem is : 

(a) Maximum Power Transfer Theorem 

(b) Norton‟s Theorem 

(c) Reciprocity Theorem 

(d) None of these 
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Fksfofuu dh izes; dk nwljk :i gS % 

¼v½ egŸke ‘kfDr LFkkukUrj.k izes; 

¼c½ ukWVZu dh izes; 

¼l½ O;qRØe izes; 

¼n½ buesa ls dksbZ ugha 

2. Kirchhoff‟s voltage law is concerned with : 

(a) IR drops 

(b) Battery EMF‟s 

(c) Junction voltage 

(d) Both (a) and (b) 

fdjpkWQ ds oksYVrk fu;e dk lEcU/k gksrk gS % 

¼v½ IR ikr ls 

¼c½ cSVjh ds fo- ok- cy ls 

¼l½ laf/k cksYVkrkvksa ls 

¼n½ ¼v½ rFkk ¼c½ nksuksa ls 

3. The direction of current flow in a diode valve is : 

(a) From plate to cathode 

(b) From cathode to plate 

(c) Sometimes from plate to cathodes and some 

times- from cathode to plate depending on the 

applied potential difference 

(d) No current flows within the diode 

fdlh Mk;ksM okYo esa /kkjk izHkko dh fn’kk gksrh gS % 

¼v½ IysV ls dSFkksM dh vksj 
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¼c½ dSFkksM ls IysV dh vksj 

¼l½ dHkh IysV ls dSFkksM dh vksj rFkk dHkh dSFkksM ls IysV 

dh vksj rFkk ;g vkjksfir foHkkoUrj ij fuHkZj djrk gS 

¼n½ Mk;ksM ds Hkhrj dksbZ /kkjk izokfgr ugha gksrh 

4. The voltage gain of a triode depends upon : 

(a) Filament voltage 

(b) Plate voltage 

(c) Plate resistance 

(d) Plate current 

fdlh Vªk;ksM dh oksYVrk yfC/k fuHkZj djrh gS % 

¼v½ fQykesUV oksYVrk ij 

¼c½ IysV oksYVrk ij 

¼l½ IysV izfrjks/k ij 

¼n½ IysV /kkjk ij 

5. Holes can exist in : 

(a) Metals 

(b) Insulators 

(c) Semiconductors 

(d) Transformers 

fNnz fo|eku gksrs gSa % 

¼v½ /kkrqvksa esa 

¼c½ vpkydksa esa 

¼l½ v/kZpkydksa esa 

¼n½ VªkUlQkWeZjksa esa 
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6. In intrinsic semiconductors Fermi level lies : 

(a) Near the conduction band 

(b) Near the valence band 

(c) Midway between the conduction and valence 

bonds 

(d) Outside the gap between the conduction and 

valence bands. 

uSt v/kZpkydksa esa QehZ Lrj gksrk gS % 

¼v½ pkyu cSUM ds fudV 

¼c½ la;ksth cSUM ds fudV 

¼l½ pkyu ,oa la;ksth cSUM ds chp 

¼n½ Pkyu ,oa la;ksth cSUM ds chp vUrjky ds ckgj 

7. The colour of light emitted by a LED depends on : 

(a) its forward bias 

(b) its reverse bias 

(c) The amount of forward current 

(d) The types of semiconductor material used 

fdlh LED }kjk mRlftZr izdk’k dk jax fuHkZj djrk gS % 

¼v½ bldh vxz&ck;l ij 

¼c½ bldh i’p&ck;l ij 

¼l½ vxz/kkjk dh ifjek.k ij 

¼n½ iz;qDr v/kZpkyd inkFkZ ij 

8. The value of   : 

(a) is always less than 1 

(b) lies between 20 and 200 

(c) is always greater than 200 

(d) is always infinity 
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  dk eku gksrk gS % 

¼v½ lnk 1 ls de 

¼c½ 20 rFkk 200 ds chp esa 

¼l½ lnk 200 ls vf/kd 

¼n½ lnk vUkUr 

9. A FET consists of a : 

(a) Source 

(b) Drain 

(c) Gate 

(d) All of the above 

FET esa gksrh gS % 

¼v½ lkslZ 

¼c½ Mªsu 

¼l½ xsV 

¼n½ mi;qZDr lHkh 

10. The Boolean algebra uses : 

(a) Two digit 0 and 1 

(b) Two digit 1 and 2 

(c) Two digit 0 and 2 

(d) Ten digits 

cwyh; chtxf.kr esa mi;ksx gksrs gSa % 

¼v½ nks vad 0 rFkk 1 

¼c½ nks vad 1 rFkk 2 

¼l½ nks vad 0 rFkk 2 

¼n½ nl vad 

S–48  160


